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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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3G J97-97 4 726 FH7 8 |

gyt 77 arfAard & |

Y% J97 & 3 3G% T3 RT T E |

o7 G 1 @7 7% 3T TG0 JoT & | JAF T 1 3F B E |

Y97 GEI7 8 & 18 T% Y 97 3 3% &1 & | 598 & Y9% Fo H FH
80 57 @ 371%% &7 757 FiT TNET |

J97 GE&IT 19 & 25 TF I4% 97 5 3 H7 & | 374 & IcdF 97 &1 IH
100 37557 @ 37199 &7 757 5197 TET |

97 GEIT 26 G F97 5 37H BT E | $TF G 9T 5 — 26 (A) 3K 26 (B) |
26 (A) 2 37% %7 3lAEIT @ T4 26 (B) 3 37 &1 YT & & | FHlGT FT Fo7
T 817 R 3G 37T IR-GIEAHhT & 3757 777 Hiforg |

General Instructions :

(i) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.

(iii)  All questions are compulsory.

(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A
1. < Toiad g feRarelt <t @RI gfgd sham T 2 1
HAYAT
=g W A SIS IuTEl T AeRTem § O STATG U W faEl W al om
foam 2 1
Why was printing of textbooks sponsored by the Imperial State in
China ?
OR

Why did Chandu Menon give up the idea of translation of ‘English Novels’
in Malayalam ?

2. 1834 S H Yook HY TS TATUT i o 39 hl AT hIT | 1
AgAT
1926 T foaaam # @i Afea Tod Tha § 99 3Ngied % @S 81 % o
STHER T&F RV s STEAT HINT | 1
Explain the aim to form ‘“Zollverein’, a Customs Union, in 1834 in
Germany.
OR

Explain the main reason responsible for the eruption of a major protest in
Saigon Native Girls School in Vietnam in 1926.

3. I fhE wEd ITH & T shadt aut ®w R § 37 fou fasm 1 @ew o=
B Hehell B 2 1
ST
IE0 SUSHTR Jaeh o ToTC fIehtd o1 o1& 1 &1 Hehal 8 2 1

What may be a developmental goal of farmers who depend only on rain for
growing crops ?

OR

What may be a developmental goal of urban unemployed youth ?

4.  HA1 6! AIER F SAEIR 7 2 1
Why is power sharing desirable ?

1320213 P.T.0.
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5. @M A S b HH h i gHaEn w1 h8 g TR 2 I
AuaT

THATG + STct ohl AT ohl THR THET I HE g ThaT ? 1
How has Shillong solved the problem of acute shortage of water ?
OR

How has Tamil Nadu solved the problem of acute shortage of water ?

6.  TZT 1 Ush ITEW0T CITT St hidt (Ahdl) o 4 0 T8 2 | 1

Give one example of money which is not in the form of currency (cash).

7.  HIU % FAHld HIH-HT A Teoh HUS BT F Afgeh i gl o araf-ad

geheHl T fo=m &tdm g 2 1

Which court deals with the cases involving claims exceeding ¥ one crore
under COPRA ?

LG LERC
SECTION B
8. UG ¥ UE W dehl STellg Her I fohdl di ygw femwarstt @1 o
HfoT | 1x3=3
T
T H 915 ST arel! et ga1 shi foheal dF SH@ fesmanett w1 qui i | 1x3=3

Describe any three main features of ‘Alluvial soil’ found in India.

OR

Describe any three main features of ‘Black soil’ found in India.

9. 1930 % 5 H JUY H TE W Mk Hfegai &1 v Hifv | 3
HAAT
1903 W &S o MY WFT | T8 THR FHE 1 90 HifAT | 3
Describe the great economic hardship that prevailed in Europe during
the 1930s.
OR

Describe the serious problem faced by the modern part of Hanoi in 1903.

| 32/2/3.
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10. IJO9 § BUEH A fohd YR e i Tk T TwR{a Hi faepfa fran 2 g

Hfgd =are S | 3
AT

Tred fehd 7 QNN o Sftad T =i W SH@nfieh o gowEl 1 58 quH

fepaT 2 IeTETUn Tfgd saredT kit | 3

How had the printing press created a new culture of reading in Europe ?
Explain with examples.

OR

How had Charles Dickens depicted the terrible effects of industrialisation
on peoples lives and characters ? Explain with examples.

“Rrams 3 WA % % & § HHA e qRatad o e & 17 e 1 v
IS | 3

“Irrigation has changed the cropping pattern of many regions in India.”

Analyse the statement.

“fava W U w= 99 & WeSR Hiftg 2 | I o aduwm @ @ 39 e i R,
T WSR 35 — 40 99T H & g9~ & S |7 39 guen ¥ e & foedl =
3YHIT hl SATEAT il | 1x3=3

“Crude oil reserves are limited all over the world. If people continue to
extract it at the present rate, the reserves would last only 35 — 40 years
more.” Explain any three ways to solve this problem.

&I &9 § T &1 H SRl h HE H AfYH ghg Fl STERER § ? T
e | 3

ST
=T RO &5k shl TTd ST k0T &kl § dgdl 1 § ? T8 hifve | 3

Why is it necessary to increase a large number of banks mainly in rural
areas ? Explain.

OR

Why are service conditions of formal sector loans better than informal
sector ? Explain.

P.T.O.
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14.

15.

16.

17.

18.

“qra ¥ ot ) Afgenett = w2 TR A Wewrd w1 GHAT HET g5dat g |7
3TN Higd SATSAT il | 3

“Women in India still face discrimination in various ways.” Explain with

examples.
SUHIRT AT ¢feh e § FHAT I o6 ATURIT 1 W hdl 331d & ? IaTeL0N
Tfga = Hifu | 3
How are consumers enjoying the ‘right to be informed’ in their daily life ?
Explain with examples.
Tradt g § Afffea gl Q@ fowei o AW fafew | 7 fawi | S ke
ST 1A & 2 A1 HIfT | 1+2=3
AYAT
URd T g N TST TEHRA o & T 1 Sedill hd WA dfagm 6
e §1a 7 2 Tse I | 3

Name any two subjects that are included in Concurrent List. How are laws
made on these subjects ? Explain.

OR

How is sharing of power between the Union and the State Governments

basic to the structure of the Constitution of India ? Explain.

“Srer wmmTRoes Tl gmfores faurse 1 &9 98 ddt 2 17 39 kA &

~TIETd 3EUST | 3

“Every social difference does not lead to social division.” Justify the
statement.

W %! THR VTR i AT —ARIETA o H fohd TR G&T YfiehT 37T
T Hehdl 3 2 3@ Figd samEn hifay | 3

AT

AR 5 WA & AN & St bl fopd Jeopr gwTferd fopam @ 2 Sergtun afed
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How can the Government of India play a major role to make globalisation
more fair ? Explain with examples.

OR

How has globalisation affected the life of Indians ? Explain with examples.

Qs 1
SECTION C

19. oS I I MR TG0 § HE S 1 Hehell 7 ? iy Iumi =1 samen
1T | 5
How can the industrial pollution of fresh water be reduced ? Explain
various ways.

20. “WArndifes sFaEATd 3Tk FAFHHAIST hl hH A U TIEI %o a1 &l uIs
2 1”38 YA Hl FETT SEFY | 5

AYAT
“HArehad IMTEA STSEAT 3T YhR hl I FTLATN A 98 8 |7 6 HAA !
=IIETd 38U | 5
“Democracies do not appear to be very successful in reducing economic
inequalities.” Justify the statement.

OR
“Democracy is a better form of government than any other form of
government.” Justify the statement.

21. YRA § IME I I g GO Hewq @EE wEdl o AW e | = a
FHAT Sl I oh [T ATTLIH GRS I JUH HIMT | 1+2x2=5
Name the two most important cereal crops grown in India. Describe the
conditions required to grow these two crops.

321213 P.T.O.
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22. ﬁm%&ag@ﬁwﬁ%ﬁaﬁmaﬂwaﬁaﬁﬁa%m?maﬁa
ST HINT |

e
199 wared] § ooy HRehlaeh ARATST 4 9RG H 8 SWfesh I & W&

! Taerfaa foran 2 Iergwon wfgd e v |

5

How had the ‘First World War’ created economic problems in India ?
Explain with examples.

OR

How had a variety of cultural processes developed a sense of collective
belongingness in India during the 19t century ? Explain with examples.

23. Il waredt O fava § o0 Searal § ‘qehHishl sl et 1 avid shifs | 5
AYAT

St SraTedt &% S $AvS | BRI o Siie T Gui I | 5
AUAT

G SraTedt | Tied I A% WA o fafag 3t @1 guH Fife | 5

Describe the role of ‘technology’ in transformation of the world in the
nineteenth century.

OR

Describe the life of workers during the nineteenth century in England.
OR

Describe various steps taken to clean up London in the nineteenth century.

24, Tl Alhdities <1 | ToHIldeh il <hl SATEYIhdl o ohis g U TI
i | Ix5=5

Explain any five needs to have political parties in a democratic country.

25. TS 3T AASIHeh &ehl o (= whls Uid 3TaT TS il | Ix5=5

Explain any five differences between public and private sectors.
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SECTION D
26. (A) T AU ‘@’ AR b T MU WRa < TSGR W@-AEREE (T8 11 W), |

(B)

(A)

(B)

1320213

3iferd fopt U 8 | 34 g fefafad St i ggEdar @ gg=nHe
3R 3T TE T 3 gHiT G 78 W@t ® faRgu 1x2=2

(a) I% TIM T8I AR TS hidg 1 AfEYH g |
(b) 98 ¥ ST&T TS 9 77 ST arsl |

3H} feu U WRA & UoHifae WE-AHtes | efaiad § 9 gt di7

I ITYH Toal | TR 3 3k 1 fafen 1x3=3
() TR - AR IR e EE

(i) MEHTR -  GFIIR TeTATS dTeh

(iii) YT —  TTfueen Sett B

(iv) g — 99

(V)Icﬁ@ﬁ_-[ — "ol 9T

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was held.
(b) The place where Gandhiji violated the salt law.

Locate and label any three of the following with appropriate symbols
on the same given outline political map of India :

(i) Bokaro —  Iron and Steel Plant

(ii) Gandhinagar —  Software Technology Park
(iii) Tarapur —  Nuclear Power Plant

(iv) Salal — Dam

(v) Tuticorin —  Sea Port

P.T.O.
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. TR 67 Fee FRATRT TR % RIT Je7 GE 26 F T W
# | faregt wier yo ) & I AT

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1)

(26.2)
(26.3)
(26.4)
(26.5)
(26.6)

(26.7)

(26.1)

(26.2)

(26.3)

(26.4)
(26.5)
(26.6)

(26.7)

| 32/2/3.

W TsT 1 AW fafge, a7 IRdE TS S 4 IuAn AfYesH
foarst 1920 § SmfSa fohar |

38 TF o1 AW fafay, St gt wue fia aegy 4 g e |
3T T 1 I fARau, S STE8aT STeIaH ol 9199 o § Feied g |

30 Ts¥ &1 T fafgu, et e diEn X 3 w97 fod ® |

39 USF &1 AW fafae, gt aqe omfvges o g9 feda g |
WA & TopE T W qeieni A TG ao fea 7 2

3G g o1 a1 fafae, S8l gore sty fooa 2 | 1x5=5

Name the State where the Indian National Congress held its
session in December 1920.

Name the State where cotton mill workers organised Satyagraha.

Name the place related to the calling-off of the Non-Cooperation
Movement.

Name the State where Bokaro Iron and Steel plant is located.
Name the State where Tarapur Nuclear Power plant is located.
On which coast of India is Tuticorin sea port located ?

Name the State where Salal Dam is located.
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For question no. 26
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